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THREE YEAR B.A./B.Com.(General/Computer Application/Taxation And
Tax Procedure) DEGREE EXAMINATION, OCTOBER - 2022
CHOICE BASED CREDIT SYSTEM
FOURTH SEMESTER
PART - II : ACCOUNTANCY
Paper - 4A : CORPORATE ACCOUNTING
(Under CBCS New Regulation w.e.f. the academic year 2b21-2022)

Time : 3 Hours Max. Marks : 75

SECTION - A
Jgritdo -
Answer any Five of the following questions. Each question carries equal marks.(5x5=25)
I 0 FHoo SSrersiven (@ahodn. 8 ©HEH S5=S Srdyen dotran.
Bonus shares.
&80 aeeren.

Bharathi limited invited applications for 20 000 shares of Rs. 100 each payable, Rs. 30 on
application, Rs. 45 on allotment and Rs. 25 on first and final call. All applications were
received. All money on calls due was fully received. Give Journal entries.

Fr58 ODBE a8 20,000 ére aoer 2,588 &r. 100 T Boidch Yo 0 I
e s SRy D & 30, Beravod 2 2 8. 45 HH8cd Devde D &r. 25 Siren
DX, o) PO @6 ey Sioeen OB PO grES DLBE @{oswé"‘ @é@@é
t’.)éd" een tmd&o&

Explam the difference between Reg1stered debentures and Bearer debentures

838 &Bog Hdakn TG &Boy Mgy Ko Pore Eﬁoﬁao&

Different types of preference shares

es&éegc@ v Bseen DBoUol.

From the following information calculate valuation of good on the basis three purchase of
the last five year average profits methods.

(Bob SmTrb0 eprsor 3 HosETre Wity ergre BDiend HWEDS K BEpUod.

Year * 2015 2016 2017 2018 2019
%o. ’
Profit/Rs. 4800 7200 10000 3000 5000
orgio.
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6. What is the need for valuation of shares’

aPre ool m%ﬁi&x IHBoSol
7. Write adiustment entries for the provision for Taxation

e TS ST Lon0QotR TPt oer e 5‘*&‘1@&
8. Need for valuatio of Goodwill.

nﬁwm@éﬁ#@m
SECTION - B
oS - O

Answer One question from each unit. Each question carries equal marks. (Sx}g=g 4

GoLraD.
Unit - 1

9. Aravindh Ltd. Issued prospectus for 20,000 shares of Rs. 100 each at par payable g
foliows: On application Rs. 20, on allotment Rs. 44, on first and final call Rs. 3& ‘;
Applications were received for 9,500 shares and all of these were accepted. All moneys |
due were received except the first and final call on 250 shares which were forfeited. Of |
the forfeited shares, 50 shares were reissued at the rate of Rs. 95treanngasfngym ;
Show necessary journal entries in the books of the Aravindh company.

MMMZOOOOMW&&NOS’@MW@M
wmﬁmgnaoaaan& 557 D 7. 20, Seranod D Gr. 44, IoBS HOdD $8
Densy D &r. 36. LoBDB 9500 e BEIFRED ©0BD. 250 Tiren D Tt Sddiy
&amw@@ma@a@m&w@m @Weé:éo&fbagm;
25 B Fered® 50 oD 80A e 2588 &r. 95 TYYS FOT IS rare |
aamavaa\no& 05905 L0NE® SBIEDN Dy HehoD Erabod.

(OR/Scr) g
10, M limited invited applications for 20,000 shares of Rs. 100 each payable as follows :

o .AM“ LA 9&

On application Rs. 25.
On allotement Rs. 35

On call Rs. 40

25,000 shares were apphed for. The directors accepted applications for 20,000 sham
and rejected the remaining apphcatlons All moneys due were fully recewed. Give Joumal
entries and show the balance sheet of the company. :
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11.

12.

13.

1-4-101(A}R20 @

M ODBE 0 20,000 aperes soer 2,588 K. 100 TS B6erdgen HO,
SSy D B 26

BAPODOR) POt 35
devPe »  Br. 40

Ko 8 25,000 amereH Egrhen ©ob3. EB5% 20,000 S8groen ©oR8800 HADS

S8Ry ﬁ%’%{n D S, e D 2 a0 fb%fm& SKven ©owotd Do OBHES
P ihen HOA el wge a@ée dew zﬁ:vqg)mES‘ ASBosod.

Unit - 11

Goodwill Ltd. issues 1000, 6% debentures of Rs. 100 each. Give Journal entries in each of
the following cases :

1. Thedebentures issued at par, redeemable at par..

2. They are issued at a discount of 6% repayable at par.

3. Theyareissued a premium of 5%, repayable at par.

4. Theyareissued at a discount of 4%, repayable at a premium of 5%.

1EDS Lid. % 1000, 6% &Boih 2,588 &, 100 3955 o0 3% & (808 Sotices®
SIIEDY Der Heen (Fa%od. -

L G203 dop Dens® b B, S0 IS DIRSHo IVSHLS.
2. BBOSHD 6% AFOEH w0 T, Sop Densid AP0 BWSH.
3. &30S 5% @Xbo'imé) &0 B, Sop S)ma’aéa DIrSK0 BTDSHL.
4

8B 4% X085 &0 B, 5% l:o&bcﬁaoés D580 TNSHK.
(OREer)

What is the Bonus shares issue? Explain the Guidelines of SEBI with regard to bonus

shares issue.

LS Tero 8 OSTID? 5755 mrive b8 SEBI 33»6&6639@2& DSBSl

 Unit - III _
From the following information calculate the value of goodwill of the business of Samson,
&8 (500 Dtren 0 AP0 a8 TIOR8 BoBID. 68 G DS M

a  Average capital employed in the business Rs. 40 000
DAEPAODS Sareso G 40,000

[PTOJ
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Net trading profits of the firm for the past 4 years are as follows -

1’ eelh JodHdre orgren BeP BT,

Year 2016 2017 2018 2019

Qo.

Profit Rs. 12,200 Rs. 11,000  Rs. 2,000  Rs. 21,000
ergo.

Rate of interest expected from capital is 10%.
Sororsso P &0y Bew eebo 3§ 10%.
Fair remuneration to the services of Samson Rs. 3,600 p.a.

TS SoH HEE ax66° 4ol ofod [8eo . 3600 o,

Calculate 3 years purchase of additional/super profits on the basis of average profits of
previous four year to be treated as goodwill.

58 eott o © Bt oo PBIBS B 3 Bono OEEDH PO FHD 1EEy
Denis ExD.

(OR/Br)

14. What is meant by Goodwill? What are the different methods of valuation of Goodwil,
KEDS e3rridn? HEDS Sorergo8S ‘{)tgé)‘o:éo DHBoBok.

‘Unit - IV

15. Balance Sheet of XYZ Company as on 31.03.2019.

Liabilities Re  Asses R
40000 Equality shares of 400000  Goodwill - 4,00000
Rs. 10each ~ Investment at cost (market value)

Employee’s saving fund 300000  Rs.5,00,000 6,00,000
Employee’s provident fund 3,00,000 Stock cost 10,00,000
Creditors | 112,00,000 - Debtors 8,00,000
Profits loss a/c 740000  Bank balance 1,40,000

1-4-101(A¥R20 - @
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The profits for the last five vear were Rs. 30,000/- Rs. 40,000/- Rs, 50,000/- Rs. 60,000/-
and Rs. 70.000/- and the goodwill is to be valued on the basis of 3 years purchase of the
average annual profit for the last § years.

Calculate the price of the share on the basis of net asset value,
31.03.2019 8 XYZ 5030 e elye 345 808 dore 4o,

spo dr. e o».
o558 &= 10 FYS 40000 EDé 4,00,000
a&d 3% 400,000  ipator B Do (08
Dens) G, 500000 6,00,000
a8 o) 0 3,00,000 5% DenS 10,00,000
&5 8 0 3,00,000  ewayihe 8,00,000
wacrSe 12,00,000 o905 Doy 1,40,000
oG 3o g 7,40,000
29.40,000 29.40,000

A8 ol Jod8)reé® ergren &». 30,000/-, &». 40,000/-, &». 50,000/-,
&r. 60,000/~ $da &». 70,000/-. K3 o Ho. Hikn FQE ergo Gnt) 3 JoSFre
FoR’en exgpdorr HEIS eosar SabatbEHod. NS exen Jevd SFEOTP Pt JSH

8500k
(OR/8o>)

16. What is meant by share? Explain different methods of valuation of shares
FEP OIPI? PP SrerosS e 56008,
Unit-V
17. Give the format of statement of profit and loss as per Revised schedule VL
S 6 o o Sipe NBBE Sikrarid Erabol.
| ~ (ORBw)
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Share capital

Reserve fund

Debtors, creditors

Fixed Assets

Purchases and sales

Wages

Administrative expenses
Stock (01-04-2017)
Govemment securities
Dividend equaiization Reserve
Income tax paid

Provision for Income Tax (01-04-2017)
Interest

Employee provident fund
Goodwill |
Profitand Loss A/c

Additional information :

1. Closing stock 31.3.2018 Rs. 160000.

Depreciation on Fixed Assets Rs. 60000.

2
3. Income tax for 2017-18 Rs. 200000.
4.  10% of profits should be transferred to Reserve Fund

18. The Trial Balance of A company as on 31-3-2018 as given under

Debit (Rs.)

8,00,000
12,00,000
20,00,000
12,00,000
200,000
800,000

12,00,000

4,00,000

2,00,000

11,20,000

Credit (Rs.)
24,00,000
8,00,000
120000

© 1,00,000

Prepare company final accounts as per the provisions of companies Act, 2013.
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e BoDH Mt wotier 31.3 2018 rbf (Boby Dtgore &by, fmhody Peit BSTHID0E,

ans (6».) B2 (6m.)

aPbr Srethioo 24,100,006
ey, ol 8,00,000
awes|isen, anpirde) 8,00,000 1,20.000
6 wigen 12,0000
FORg $H00h wiiyse 20,00,000 36,00,000
Sdzpen 12,00,000
Nxres pippen 2,00,000
5% (01.04.2017) 8,00,000
KS58@bols Ermdben 12,00,000
8ICOE Su5BESS By 4,00,000
BOODS errddD) D) 4,00,000 '
swrab)) Sy 850 Beranod (01-04-2017) 8,00,000
$oi% 0% BITOE , 2,00,000
S8 : 1,00,000
a&iybo 8D 0 C 100000
HEDS , 11,20,000
o4 S0 o ' 8,00,000

, ' 91,20,000 91,20,000

o855y SS»aedo;

1. #oRod % 31.3.2018 &». 1,60,000.

2§ BSIHG Gr. 60,000.

3. ewdb Sy 2017-18 &, 200000,

4 ogrod® 10% Bty B8 Do

So2de ko 2013 Dworsse [EErto Sobd BB grEres: 250 Sabol
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THREE YEAR B.A./B.Com.(General/Computer Application/Taxation And

Tax Procedure) DEGREE EXAMINATION, OCTOBER- 2022
CHOICE BASED CREDIT SYSTEM
FOURTH SEMESTER
PART - 11 : ACCOUNTANCY
Paper - 4B : COST AND MANAGEMENT ACCOUNTING
(Under CBCS New Regulation w.e.f. the academic year 2021-2022)

Time : 3 Hours Max. Marks : 75

SECTION-A
s - '
Answer any Five of the following. (5%5=25)
80B B8S° IT OB HSTESKNeD (TR,
What are the objectives of cost Accounting?
s} ©5°080R @Y eFen HHH? t
State the methods of pricing of material issues.
DBBHS &b 58 Wi HE0l, .
Find out total earnings of a worker under Halsey Plan and Rowan Plan -
Standard hours 12
Actual hours worked 9
Hourly rate Rs. 1.50 paise. SR
D) (oS HB5D BS e Bee8o a8 B0 Fwo Fsre EHPsod
Hoten 12 :
35 B Kobren 9
Hob® 8 Gr. 1.50 Roden. :
Compute economic order quantity (EOQ). '
Monthly demand for the components 500 units

Set - up cost per order ' - Rs.60
Annual Rate of interest , 10%
Cost of manufacture per unit Rs: 20
oY 80 H50%rerdy B80S0,
5@;‘%&& gai'a»é &a’m?& v 500 cg::m;a
oD o] ' . 60

e o
i Saed Ksabo - Br, 20
Explain limitations of financial statements,

0K S0 DESA.
Explain the features of job costing.
&8 SoR T offered DiSBosod.

1-4-101(B):R20 o [PT.O]




7. Methods of analysing financial statements.

wbs QRBEeH DFhoD DD o '
8. From the following information calculate P/V Ratio and Break event point.
Sales 2,50,000
Fixed costs 50,000
Profit 75,000 .
Bob Kdmerbo ol PIV A8 H0dsn @8 &S DeootSin BEpol.
XD 2,50,000
28 Sgeiren 50,000
g0 75,000
SECTION-B 1
Ogetiso - O .
(Sx10-30)

Answer one question from each unit.

£8 S ok e Y NPT (ge0s08.

Unit -1 :

9. The following information is relating to Vinod Company limited for the month of December
2020 ' ‘
Particulars Rs.

Opening stock of raw materials 25,000
Closing stock of materials - 40,000
Purchase of raw materials 85,000
Carriage inwards 5,000
Wages direct 75,000
Wages indirect 10,000
'Other direct charges 15,000
Rent and rates - factory 5,000
Rent and rates - office 500
. Depreciation, plant 1,500
Depreciation, office furniture 100
~ Salary, office - 2,500
Salary, salesmen 2,000 ~ ,
~ Other office expenses o 900 '
Other factory expenses . 5,700
Managing director’s |
" Remuneration - , 12,000 b .
" Other selling expenses | | 1,000 :
Travelling expenses . L1000 '
~ Carriage outward - ' 1,000 e g A
Sales C 250000 . it Ul
Advertisement 00 it s

14-101B}R20 = @




Managing director’s remuneration is allocated as Rs. 4‘,000 to the factory, Rs. 2,000 to the
office and Rs. 6,000 to the selling department.
From the above information find out : (a) Prime cost (b) Works cost (¢) Cost of production

(d) Cost of sales (e) Net profit.
18ob Jrerdo ERowd 2020 JoH ISP 5o2d DHBES BowododSH.

ddocren &>,

E0d Sergre [Fods Ry 25,000
Sl 60‘056 S0A0DH Qex 40,000
ol Sorere SO’ 85,000
Fofen Savee 5,000
38en . 75,000
g;?é S80en - | 10,000
885 [ Qe 15,000
®3 dai» Bey - :%ga 5,000
&3 H0aw Tey - 6 500
S50080, ot » 1,500
SE080, 6% $0)i56 100
daren, i © 2,500
deren, DDS 2,000
o988 6§ pHen | 900
a8 P50 e 5,700
B30R gogs re8*so 12,000
385 DD eyen "~ 1,000
e se 1,100
edsre Sarer 1,000
oSy | 2,560,000

g;::sm - | 2,000
off ZB55 2r08°%E0 . 4,000 J5E68, &, 2,000 STLARIS HHBAH &, oo
Dgrred8 6,000. : |
 Sirarto Hobl - () Ber Ssavo (@) $8)) davo () a)B Siovo (&) sy bo
(@) BB evgho ok EHR"S0d. k 2% i

(OR/8wr)
10. From the following particulars of a manufacturing company prepare a statement showing.
a.  Cost of materials used.
b.  Prime cost.
¢.  Works cost.
d. Percentage of works overhead to productive wages.
e.  Cost of production.
f.  Percentage of general overheads to works cost and
g  Net profit.

~4-101(B)}-R20 } 3 ey - [PTO] ol




Particulars | Rs.

Stock of raw materials on 1% January 2016 20,000
Purchase of materials in January 5,50,000
Stock on finished goods on 1* January 2016 25,000
Productive wages 2,50,000
Finished goods sold 12,00,000
Works overhead charges 75,000
Office and general expenses 50,000
Stock of materials on 31% January, 2016 70,000
Stock of finished goods on 31%January 2016 30,000

2% 6%)8 B0y Gk (Bob DSTe ool BIHS A HrHE 00 Dok Scirticol;

. DIFFAODH HEBAHS Koo,
8. Exp% Sgodo.
. 8 Syodo.
& emss Mo $6)) LSEIFE w0,
3 68 Kodo.
AP, $G) Kobo P Ferde éuéE?;?Ec S0 B,
8. 88 ergio.

- dSoren E».

1 22358 2016 & 853)& mo Q 20,000
255506° S SFTpe STOReD = 5,50,000

1 23558 2016 & @‘603):6 $Ho Dex 25,000
aEiss e , 2,50,000
@8)3&26 SoHeo 550530 12,00,000
z.ss&) £.552°E argoien 75,000

S $BAED AeFSe AT 50,000
31 w555, 2016 & 5o Gerono dex 70,000
31 25556, 2016 $ Frdowd SoPo Jey 30,000

Unit-1I
11. The following is the summary of the receipts and issues of material in a factory during

December 2017 prepare store ledger according to first in first out method.
December 2017

1.  Opening balance 500 units @ Rs. 25 per unit.
3. Issue 70 units

4, - Issue 100 units

8.  Issue 80 units.

13. Received from supplier 200 units @ Rs. 24.50 per unit.
16. Issue 180 units.

20. Received from supplier 240 units @ Rs. 24.75 per unit.
24. Issue 304 units,

25. Received from supplier 320 units @ Rs. 24.50 per unit.
26, Issue 112 units,

28. Received from supplier 100 units @ Rs. 25 per unit

It was revealed that on 15% there was a shortage of 5 units and another on 27* of 8 unis-
1-4-101(B)-R20 @



12.

13.

&nowd 2017 & aﬁéa‘ DS T ©0¢ o SonoBods JEPto &
Bod difore aob, FIFO 558 Sevto YPB wiiep sravsn cirts Bckod.,

&.‘e‘ooea& 2017 :

1. L?vﬁoaﬁ Qe 500 credey @) Bv. 26 Grdess

8. 70 coedRy e,

4. 100 cSorRe erd

8. 80 chirdy erd

13, SRS 08 HP0B 200 Rty @ Er. 24.50 dhrdd,
16. erd 180 ey,

20. " DBIoE S0l HYNoB 240 Koty @ . 24.75 PSS,
24, =0 304 ALy,

25. oo ol HYod 320 Sty @ Gr. 24.50 PSS
26. &0 112 iy,

28. JEToedd Dol HYod 100 chredey Er. 25 s
15 883 5 atordey, 27 % $6° 8 cirdiy S50 8ol EHRSERIB.

‘ - (OR/8er)
In a factory guaranteed wages at the rate of Rs. 18.00 per hour are paid in a 48-hour week.
By time and motion study it is estimated that to manufacture one unit of a particular product
20 minutes are taken. The time allowed is increased by 25%. During one week an employee
produced 180 units of the product. Calculate his wages under each of the following methods:
(a) Time rate, (b) Halsey premium bonus and (c) Rowan premium bonus.
2.8 Eoyrdod® Kot &r. 18.00 S 48 Kotio ardod® 38 Ssmren BYoSatara.

25 20H 68)8 W) 28 S SorE8 20 DFen HHEOLD oS Aabolod.

OHHBODS BEbAho 25% DBAOB. 2.8 oS’ 2 &EHA 180 D %80 a8
Bats. BoB (58 DEBE® 8 SdTroi 88008 : (2) ¥ocdh Bew, (D) ) @Ja'hdﬁ:o 8
S8k ) St oo %%, |

' Unit - ITT
A work order for 500 units of a commodity has to pass through four different machines of
which the machine hour rates are as follows :

Machine ARs. 2.50, Machine B Rs. 6.00, Machine C Rs. 8.00 and Machine D Rs. 5.00 The

following expenses have beén incurred on the work order : Materials Rs. 40,000; Wages

Rs. 3,000; number of hours worked : Machine A) 400 hours; Machine B) 600, hours; Machine
C) 489 hours and Machine D) 200 hours. -
It is estimated that office over heads are 60% of works cost. Calculate the selling price to
get 20% of profit on selling price. ~
500 ey )88 BowoBod 58, egh mreurd b abojgre e abrvdod. D8
Koo Bey Bob Difore eomon : ‘
do @ &r. 2.50, ahoo & B, 6.00, cﬁm(g: R &, 8.00 S8 ahogo & Bm. 5.00.
58) 6863 80d pyen esBrran : HBBHS) &r, 40,000; Ssmren &, 3 00; & Hove
Koy : choyo @) 400 Kotoen ; dﬁao@io &) 600 .Kotoew; cﬁaol-éo D) 489 Hodren HB
o &) 200 Kotoex.
edD 638 TrBen 88 ) dgavo & 60%.

oD 5 20% ergo TPl N8 K8 ol domes® JrHEre 38) esg& sf &%
' (ORBm)

BArGHTADO8.

1-4-101(B)-R20 | OF s " [PTO]
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14. The demand per annum of a product is 48,000 units it is produced in batches and the largest
size of a single batch is 8,000 units. The set - up cost per batch is Rs. 1,500. The annug]
inverntory carrying cost is Rs. 2.25 per unit.

Assume average inventory as 50% of the number of units made in each batch selecting
4,6,8,12 and 24 batches per annum, determine annual cost of each batch and state the optimum
number of batches to minimise the total cost.
28 S @) Birol VoS8 48,000 chrdéy 36 3506‘ 488 Scdatdbos
500k 8 axs ) w8 Hodr=o 8,000 cﬁuwm.g 2555 6D Sxtho &,
1,500. ar8f 060 Dex BabceR8 5’.750&0 PSS &r. 2.25. ,
cooéégm&)é 4,6,8,12 500 24 zxSo 2, (58 w5S8° Ecrtioonls
Soggs® 50% Jrien sRKEHOD IR, (;_w aavq,é a’:;dﬁrzgagomovﬁoé 5Bck
Imdo P éﬂoém&)é FOPAD e aomg:éo

Umt IV

15. The following are the Balance sheets of Jaya Ltd. for the years March 31, 2016 and 2017.

Prepare a Comparative balance sheet.
Particulars March 31,2016 Rs.) March 31,2017 Rs)

L Equlty and Liabilities
' 1. . Shareholder’s Funds

a.  Sharecapital S 400000 - 3,00000
b.  Reserves and surplus 1,50,000 - 1,00,000
2. Non- current liabilities : o ,
| a. longterm IDBI 300000 ' 1,00,000
3. Current liabilities i
a.  Shorttermborrowings 70000 50,000
b.  Tradepayables X 60,000 4 30,000
c.  Othercurrent liabilities 1,10,000 ‘ 1,00,000
d.  Shortterm provisions 10,000 o 20,000
Total -11,00,000 70000
L Assets . L
1. Non- Current liabilities . \
a, FixedAssets . =~ - 4,00,000 220000
. b.  Non-currentInvestments = - . 225,000 1,00,000
2. CurrentAssets _ ‘ - el
~a. Curmentinvestments = - 80,000 60,000
b Inventories . ‘ 1,05,000 . 90,000
¢.  Tradereceivables - e 3 90,000 : 60,000
d. ' Cashand cash Equivalents 100000 = . 85000
¢.  Shortterm loans and Advances 1,00000 o850 -
Total 11,00,000 700000

aSJvQ) 31, 2016 $60k> 2017 HoSHyreth Homohod uad HHDE |
Hjsen B08 Dejore’ ama. &mﬁega@osgéwsmm&m.&m

sk
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o500 . SrQ) 81,2016 (8».) 3»8) 81,2017 (8».)

a. Tt drofle 400,000 . 3,00,000
b Beby SOy rven 1,50,000 1,00,000
2 R385 elpe :
a. IDBI 8605 oo ‘ 3,00,000 ) 1,00,000
3. E)"e\_\;é B
2. A8 eweren 70,000 50,000
b. 388 Degen. . ‘ 60,000 30,000
c. =S5 (K8 eyen. ~1,10,000 1,00,000
d Koy @"x)asS‘) 10,000 20,000
Jngo 11,00,000 7,00,000
IL elw
L @’)@366 a:e |
a P edo. : 400000 © 220,000
b. t.’)«‘(»ééé gt . 225000 1,00,000
2. Y8 epen ; , ' |
a E’)"mé o)e.»aaéoe» : 80,000 - 60,000
b. aﬁgoéoﬁm ' ~1,05,000 90,000
c. ren Deyen. | 90,000 60,000
d K5 1,00,000 - +85,000
e oDy aweren baky ewmdnen 1,00,000 85,000
3ndo - 1,00,000 . 700,000
(OR/Ecw) ’
16. Calculate the trend percentages from the following ﬁgures of Sunny Ltd., taking 2015 as
the base year and interpret them.
2015 D egrs BoSEBorr HHHD Y ODBE Bod Kerosro S0l PHB TowD
B8poiol S0 B argErgdoUol.
Rs. in Lakhs &». Qépé‘
Year Sales Stock Profit before tax
Sos&)o eiyere SHH S Swoth erdlo
2015 3762 1418 . 642
2016 4680 1562 870
2017 5310 1632 916
2018 6042 1888 1054
-2019 7536 2308 1344
1-4-101(B)-R20 ) « [P.T.0]




17.

18.

cﬁwmﬁé)géa’:gdioodr 2. éo

Unit-V
A retail dealer in garments is currently selling 24,000 shirts annually. He supplies the
following details for the year ended 31*March 2019.
Selling price per shirt : Rs. 800
Variable cost per shirt : Rs. 600
Fixed cost : Rs. 40,00,000
You are required to :
1.  Calculate Break Even point and margin of safety in sales revenue and number of shn'ts
sold.
2. Assume that 30,000 shirts were sold during the year, find out the net profit of the
firm.,
3.  Assuming that in the coming year, the fixed cost will increase by Rs. 10,00,000 is
anticipated, and
Price of shirt is likely to be increased by 15%,what should be the break even point?
T5E0 &R 28 DB O Biado KoSHTRE 24,000 Ty a@omaa&
- %70) 31, 2019 & SHAMS VOHHTIE & Bod Do BoBOTLD.
2 5"5?,@&6:&&@ &S : B, 800
2.8 S5y I oo : &e. 600
2 Kgabo : &, 40,00,000 - |
i Dgaire swrabo DB O gwo&é e Wogss® @5 &S SrowolS Hba B
oSHed el DenSETD Hdchr SdPe X m S0 Bépéo&.

2. Dodd Bo&® 30 000 Ssven edmasrgadR @8)0:‘50& $0y gy B oy

éé)ﬁ"zéo&

3 o BB, B8 S5abo &r. 10,00,000 HOAF, 5°svg,z56 15% 8 eSsdo

éob. Yo @55 ST5 FocwolS Ao8 oenod?
(OR/8ce)
A company budgets for aproduction of 1,50,000 units. The variable cost per unit is Rs. 14
and fixedl cost per unit is Rs. 2 per unit. The company fixes the selling price at Rs. 20 per
A) Whatis the break - even point?
B) What is the profit/volume ratio?
C) [Ifthe selling price is reduced by 10%, how does the revised selhng price affects the
~ Break Even point and the profit/volume Ratic?
2.8 5o 1,650,000 ey 6B 5?3%)0& cﬁm&)eg&iﬁéégdﬁodr 14&5@
o)g_‘cﬁw‘aﬁs‘a @&35@ o B, 20m8§omoao&§oa
8 Bfpoisol. \
) (@5 &3S ool
D) piVIYB d08?

®) SXE 6 10% 813, @sa&mmmmwwwm
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THREE YEAR B.Com.(General/Computer Application)
DEGREE EXAMINATION, OCTOBER - 2022
CHOICE BASED CREDIT SYSTEM
FOURTH SEMESTER
PART - 11
Paper - 4C : INCOME TAX
(Under CBCS New Regulation w.e.f. the academic year 2021-22)

Time : 3 Hours Max. Marks : 75
SECTION-A
Dereisn - D

Answer any Five of the following questions. ' (5%5=25)

S ot E’)@é J5egrissmen (Erabob.
1. Difference between direct taxes Vs indirect taxes?
o SRigen Vs 50 S St Sygio?
2. Assessce. ‘
S5y 3003 48
3. Whois specified employee?
Acpod a8 AgDoSob.
4. Calculate the net annual value of Mr. Charan. He paid rent per month Rs. 4,000.

Particulars Amount (Rs.)
Municipal value 3,50,000
, Stahdardrcnt ~4,00,000
Fair rent 4,50,000
Municipal Taxes | 50,000

2-4-101-R20 @ " pTO|




¢ - - v -
Mr. 356 VB8 & QF Deudn E‘S?‘,&oz‘ﬁu&. 0o ot BYOUS 96 . 4,000
L8

Particulars 3ndo (8r.)
K)))X)‘Jéﬁ QD 3,50.000
@"K)J“L%é ?DQ 4,00,000
VoD ©F 4,50,000
| SRS S 50,000

5.  Sec80CCD..

ES 80 CCD 9 9580508

6. Longterm gain.

5§)s'>€)é eréio.
7.  Casual income.
SR8 SPaPo.
8. Sec80D.
5S 80D D DSBSl
' SECTION-B
aquaSao -9

Answer any One question from each unit. Each questlon carries 10 marks.  (5%10=50)

Ea& S 5008 el t:@é: (oa’mmzsaaa’)ogo& Eaé’é tﬁaéa 10 Setnen Soron.
Umt I

9,  Mention any ten exempted income w/s 107
DB SPFopotpdS DO wrrarery u/s 10 Bots DEYA?
(OR/ém) . t

10. Whatis incidence of tax? Explam the different types of incomes'and show the taxabxhty of
incomes?

D609 wol oaaeb? :)5’)6 Sre swraired DSbosod a’»aem erdired o?éa
@ri@ém rdol? ;

2-4-101-R20 @)




1.

12.

Unit - 1

The following are the particulars of income of Mr. Chiranjeevi (an employee of an individual)
the previous year ended on 31 March 2021.

i
ii.
iii.
Iv.
\4
Vi,
Vil

viii.

Salary Rs. 15,000 p.m.

Bonus Rs. 15,000.

City compensatory allowance 2,400 p.m.
Special Allowance - Rs. 60 p.m.

Lunch allowance - 500 p.m.
Transportation allowance - 2,000 p.m.
Contribution to RPF - 15% of basic salary.
Tiffin allowance (actual) - 5,000 p.a. |

Compute his income from salary for the Assessment Year - 2021 - 22.
31 $°8) 2021 3 K& KoSBT. & S0205oD Mr. 0D, 2.8 SEN eard8 Somogods

QNToeD t%o& Aore TR0,

i
ii.
iil.
iv.

Vil.
viii.

»

£8o &». 15,000 p.m

&S . 15,000 . p.m

JKE Fred 356%0 2,400 p.m.

@%é g&o - &p. 60 p.m.

000 ®ORJ)e» - 500 p.m. -

Barese éjéego 2,000. ;
RPF 8 Soi8amgiS - Sowre 38506° 15%.
820 ©oIF) (F°KH0) - 5,000 H0.98

B0 H08 @8 SRR iy Jorbes cooaséh)do 8 2021-22 Bégrorﬁo&

(OR/éue)

Reddy is working ina software company at No1da He draws monthly salary isRs. 18, 000
p-m.and D.A.isRs. 8,400 p.m .

a
b.

C.

d

Advance salary is Rs. 20,000.
Free lunch for 250 days each costing Rs. 120,
City compensatary allowance Rs.6,000 (70% spent).

Rent free accommodation fair rent value of Rs. 80,000 p a. and cost of furniture .
Rs. 48,000. .

Employee and Employer’s contribution to RPF Rs. 25,000 each and interest credited
thereon @13% Rs. 7,500. «

Compute his income from salary for current assessment year,

2-4-101-R20 @ " PTO]



Els)g 55;%1:«5% o6 AGAE Soude’ 130 By, @8 Jomb o 8. 18,000 Hboto
‘A 8. 8,400.

a 80 oohed e, 20,000.
b 250 &% etn &S Saso atdiaso &r. 120.

o SIS es g0 . 6,000 (70% pep SO

d  adg e $08 BooadDS ©f Deod g». 80,000 p.a HOc» $§IE §8
- &r. 48,000.

e, RPF® a8k HBcs abessrd Gnt) BRoD a5 6. 25,000 &H0a 0 P ad
Scadeds & @ 13% 8. 7,500. '

B8 etrddho (B Dy dopdes oSS BPoBEAD d&&ﬁ) B80S0l

- Unit -
13.‘ House was completed on 1* Apri}, 2021 and the following information is available about

the house property. ‘
Particulars Amount (Rs.)
Municipal value 30,000 pa

| -Fairrental value ‘ 35,000 p.a - |
Acmal rent - '4-,500 p.m.
Municipal Tax 5,000 pa
Fireinsurancepremiun ~~ 3,000

‘. LandrevenueTAX Cs000 i

A Letoutforthepenodl 042110 31. 12 21 andselfoccupnedfroml 1.20220nvmd&
B. Interest on loan for the penod '
2 104, 2018t03132021 “Rs. 35,000 e

b 1420210313202 5 R 25,000 e A
Calculate income from housapxoperty ﬁor the prevxous year en&ng on 31 uszm




ey 1 b@aeﬁ. 2021 8 Srfovod. S0t gof W8 Kowofols Disores % @ocs Dgore
AImED.

DSoren (%)

SIS Dexss 80,000 0.5t

SRS ©F Dewss 86,000 %o.%t

TRV o7 4,600 p.m.

SIS By &». 5,000

SIS 8)35:» a0 . 3,000

& ol By &. 5,000 |

A 1.04.21 508 31.12.21 5erd8 245 0565 960t 1.1.2022 Sh0f 1.1.2022 08

Qubore sEdoN. . |

B. 6% twop 54 |

o 01.04.2018 %08 31.03:2021 %66 &, 35,006;.. |

8. 1.4.2021 508 31.3.2022 $5% &, 26,000, -

31.03.2022 § Sonh K8 RoSE08 st 6 ol errcin) BBosol.
| (OR)i!q-)@ T

f.. What are the expenses inadmissible under computation of income from Business and
profession? ' : ' -

%MW%W%WRAMWQWMW%Bm 89
Unit-Iv * - ©

% Smt. Sudhachandran purchases 2,000 equity shares in nataraj Ltd. an unlisted co, at a cost of
Rs. 50 per share (brokerage 1%) in January 1997. She gest 200 bonus shares in August
2000. she again gets 1,100 bonus shares by virtue of her holding on february 2006. Fair
market value of the shares of Natarajan Itd. on April 1, 2001 is Rs. 80 on 1st Jan, 2022, she
transfers all her shares @ Rs: 200 per share (brokerage @ 2%). compute the capital gains
taxable in the hands of smt. Sudha chandran for the A.Y, 2022-2023,

Cost inflation index of F.¥. 2001-02 - 100, F.Y. 2005-06 - 117 and F.Y. 2021-22 - 317,

4-101-R20 ' : | (5)' [PT.0]



&8, Wogrsoss, Htoed DHBES® 2,000 Gl DG Toen Do, 2550 1997
e o BOR o, hO (8BS 1%) TS Eofen DR, ey 2000 & e 200 &
Lot o0 HuSo 200668 e Frdoh stmore H§ 1,100 845 26 Fob
S SrBES Deoss DRS 1.2001 § Hboad DIBE S 6. 80, 1 2656, 2022,
e 35 HENEED (@ e, 200 S w6 DTwod (5°634 (@ 2%). A.Y. 2022~ 2023
S8 a’»méo@S %) DEOBBAL Korets orgrod B8odol. Kb (?5%@@:9 God) ot
BoddBo 2001 - 02 - 100, 1.Y.2005-06 - 117 and EY. 2021-22 - 317.

(OR/8om)

~X

16. Mr. Varun investments during the P.Y. consisted of the following.
1. Rs. 25,000, 9% govt. securitie.
Rs. 30,000, 12% SBI bonds.
Rs. 20,000, 11% Bombay corporation bonds.

Rs. 5,000, 7% national plan certificates.

2
3
4
5. Rs. 10,000, 7 years P.O. National saving certificates.
6. Rs.15,000,8% londongovt.bonds.

7. He paid Rs. 150 as commission for collecting the interest income.
8

SBI savings bank interest in Rs. 19,5 00.
Compute taxable income from other sources. \
3))@5. G K8 ‘éo&’)é()éoé‘s '336%:)@& 2GS Dfoeew &8 @o& DEore GITNOD.
9% (Habds 2&rspdo &r. 25,000.
12% SBI eroty &. 30,000
11% 2rod TS erorg & 20,000,
7% sl [HerBE s Sgres B 5,000
7 sostre G ek bk oD e Hgre Br. 10,000
8% ©otsS [Bebdy a0t &, 15,000,
oD Sb srrairR) HEBODSOWE Gr. 150 IPITE.
_ SBI $90f o8 54 &, 19,500,

585 S50 Hol Ky DOBERS eTrairy BlpSal.

® N e R W P E

'2-4-101-R20 »- (6)



7. MuN
a
b.
<.

d

- o

=P @

Qs 0
)

Unit- v

\. Chowdary furnishes the following particulars of his income for the PY.2021-22
Income from salary - R, 30,000

Interest on securities - Rs. 15,000,

Profits from business - Rs. 20,000

Share of loss of business - Rs. 15,000.

Loss from speculation business - Rs, 4,000,
Dividend (gross) - Rs. 5,000.

Loss frox.n short term capital asset - Rs. 5,000.
Income from UP state iotteries - Rs. 10,000.
Profit on house racing - Rs. 15,000.

Loss from crossword Puzzles - Rs. 2,500.
Profits in Rummy (Card game) - Rs. 4,000.
Loss fron} flash (card game) - Rs. 4,500.

Compute his total income for the A.Y. assuming that the claims the following deductions.

1.

AW

His LIC premium paid on a policy value of Rs. 1,00,000.
Donations to National Defence Fund- Rs. 5,000.
Donatlon to Bengal club Rs. 5,000.

His youngest sister, dependent on him, was adm1tted to amental hospxtal for the whole

year and he spent - Rs. 15,000,

Mr. N. 256 G 2021- 22 K8 KosE)Bo isTrer S Bod Diore axmow.

a

b

c.
4
€

f

+101.R20 S . CipEo)

280 08 etrabo - &, 30,000,
Rspdep 5§ ~ Gr. 15,000,
Feto Hof £3) evgres ~ &, 20,000,

g S50 - &, 16,000,

RGBS oo g0 - B, 4,000

82808 (pe) ~ 4. 5,000




RSOE rods oY ol Igo - & 5,000
&&vﬁﬂﬁem&&mﬁm-&. 10.000

LR Yode oo - & 15,000

i ESE sed) Bod Spo - & 2500

ke ovw FAD) - & 4000

L A8 5 AD) Hod So - &= 4500
wmmww@sﬁm@mwwm

> o

1. sé&)UCé&xﬁ)odr. 1.00,000 &r. o b JenS D IPoIalcd

eécﬁa@basér &me

BorrS 208 & 5,000@@0&50&-

4. e@a@mmeﬁm&swé‘%ww&maﬁa@ 15,06
(OREo)

-

sJJ

18. ExplamSOEmdSOG
80E 56d 806:) :}a’)aoéo&
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THREE YEAR B.Com. (General/Computer Applications/Taxation and Tax
Procedure) DEGREE EXAMINATION, OCTOBER - 2022
CHOICE BASED CREDIT SYSTEM
FOURTH SEMESTER
PART - I1
PAPER - 4D : BUSINESS LAW
(Under CBCS New Regulation w. e.f. the academic year 2021-22)
Time : 3 Hours ' Max. Marks : 75
SECTION-A
QP - o _
Answer any Five of the following questions. (5%5=25)
& 8od >S° witd B8 PSSy,
1. a) Void Contracts.
- sy
b) Whatis fraud?
. arso.
-c)  What is offer? ’
d) Contingent contracts.
6o SorD .
e) Acceptance.
590
f)  Distinguish between sale and agreement to sell.
| @iy HBc oo Ao afhodo il e Poren DSBoB0R.
g) -Whatdoyoumean by digital signature?
. h)  Cyber crimes.
L 24103R0 .. @ T S R e

-SSR P - SSESE P




SECTION-B
Ogriisn - O
Answer any One question from each unit. Each question carries 10 marks. (5%10=50)
& (B0B chmS b P el B aarm EPADID. 8 P 10 Srtp.
| UNIT-1
2. What are the essentials of a valid contract?

BB Seofrf ) edsmen.
(OR/8o»)

3.  Explain different types of contracts.
s’ot.rg &5 Ssvod DSBSl
UNIT-1I
4. ‘Contracts without consideration is void’ explain, what are the exceptions.
P8I0 B oy o 3o SgyoSol.
(OR/Ec»)
5. Define acceptance. What are the essentials of a valid acceptance.
88 eSIFRD? K035 %88 sorSeds edfse.
UNIT-III
6. What are the rules regarding to minor contracts?
356 SOEFR 5 GoESODS oD Jokden DSBoSol.
: (OR/Scr) :
7.  What are the modes of discharging a contract.
SoErR IIPSS Hshen DSB0S0E.
° - UNIT-IV
8.  Write a note consumer redressal mechanism in India under COPRA Act, 1986.
' (OR/Scr) .
9.  Explain the rights and duties of unpaid seller. :
UNIT-V
10. Explain various objectives of Information Technology Act, 2000.
PoBBE [3Pers Si0, 2000 aZegoid DSBoSOL.
(OR/8cr)
11. Explain different types of cyber crimes.
20 o P8 Joroid DSBoSoB.

2-4-103-R20 . . @
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THREE YEAR B.Com (General/Taxation and Tax Procedure)
DEGREE EXAMINATION, OCTOBER - 2022
CHOICE BASED CREDIT SYSTEM
FOURTH SEMESTER
PART - 11
Paper - 4E : AUDITING

(Under CBCS New Regulation w.e.f. the academic year 2021-22)
Time : 3 Hours

Max. Marks : 75
SECTION-A
QgD - @
Answer any Five of the following questions. (5x5=25)

& Bob TBS° OFT ih HHOD SSFTRSSOL
1. a) Typesoffrauds.
D5 Srodo DSBoS0R.
b) Auditnotebook.
88 S 0.
c) Balance sheet audit.
i eigo 34 =25
d) Window dressing,
Arg B,
e) Valuation.
Sarergosiso.
f)  Testing checking,
Sy 820,
g) Intemal check.
wosss 820,
h) Liabilities of an auditor.
o5 oriigsen.

2-4-104-R20 L) [PTO]



SECTION-B

Derriso - D ‘ o
Answer any One question from each unit. Each question ia""fs 10marks.  (5x10=5¢
& (80D SHrRMS o DB a8 D ee [FaED. @8 HYS 10 Srtye.

UNIT-1
2.  What are the essentials of a valid contract?
DOBAD § ¥ esd¥sseen.
T (OR/8or)
3. ' Explain different types of contracts.
¢E &5 Bererd DS5B0S508.
T UNIT-TI

4. ‘Contracts without consideration is void’ explain, what are the exceptions.
©8Beo 89 SO en By’ SOoSod.
(OR/3e»)
S.  Define acceptance. What are the essentials of a valid acceptance.
55%8 SITID? BB ?\5%35 ©oEHORS eIseen.
UNIT-1III
6.  What are the rules regarding to minor contracts?
D6 oY B GolSodS JahD JpogSen DSBoSol.
(OR/Swr) :
7.  What are the modes of discharging a contract.
%) DIPSS Hdehen DH5BoSA.
T = UNIT-IV
8.  Write a note consumer redressal mechanism in India under COPRA Act, 1986.
DITrHHe g DOTIEI8 FESESos o) diao@boﬁo DS80Sl
' (OR/So») .
9.  Explain the rights and duties of unpaid seller.
BPoD #8KD SIPELHTEH Fpen O JheH DSBS,
| UNIT-V |
10. Explain various objectives of Information Technology Act, 2000.
o8 SEPTE S0, 2000 aZexedH DS80Sl
(OR/der)
11. Explain different types of cyber crimes.
DD Bvo Pl Jorod DBBoSOA. '

2-4-103-R20 . . 7))
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THREE YEAR B.Com (General/Taxation and Tayx Procedure)
DEGREE EXAMINATION, OCTOBER - 2022
CHOICE BASED CREDIT SYSTEM
FOURTH SEMESTER
PART - 1l
Paper - 4F : GOODS AND SERVICES TAX
(Under CBCS New Regulation w.e.f. the aca({emic year 2021-22)
Time : 3 Hours Max. Marks ; 7§ .

SECTION-A
. Answer any Five of the following questions. (5%5=28)

1. Explain UTGST.
UTGSTR dH8osod. - -
2, Whatis Dual GST?
ok GST.
3. | What are exempted goods under GST?
GST o0& D3owoth HPhed DSBoBod.
4. Inter- state transactions.

©088 o SgSSFeren.
5. Whatis meant by indirect taxation.
‘ 56%% $%p) deeiso.
6.  Explain features of GST.
GST oferen D00S08.

7. Mention records to be maintained under GST.
GST derisos® Dtrossons oeghoih dsBotold.
8. IGST

WOl 85y D Sy,
24105R20 | @ - 4 . [PTO]



10.
11
12.
13.
1.4.

15.

16.

17.

180

SECTION-B
Answer any One question from each unit. Each question carries 10 marks.  (5%10=50)

UNIT-1

‘Detme the term GST? Discuss various benefits available to boost Indian Economy.

GST® 256008, GST S0 BY wds L 8OA ramres D800S0L.
(OR/8w)

What do you mean by GST registration? Explain steps given in GST Act for registration.

GST S2eed 805 boidols. GST S0 Bots GST St Ko DD Lo BBoSol.
UNIT-1I

Explain the Canadian GST model of GST.

858058 GST X)t;?éo %809 La_rdﬁ:o& L
(OR/8ee)

Explain different types of taxes levied under Indian GST regime.

gr5805 GST 8)@:6065 DooD> DS Bsvw. kg KHBoD EreHol.

JUNIT-IIl
“Composite scheme is meant for small tax payers” Discuss.
SoRFAE do Wi OF) TEEGHOH SF0DIE.

(OR/éa')
Explam the concept in detail about Reverse charge mechanism.
835) a°5 Oy dgrdo KD tmdﬁ:o&

UNIT-1IV
Write note on how to detenmne time of supply of goods and services.
Sk Sbatn Hde Hohd Bhohod de» DepoRxe’ DS60SO8;

OR@Be)
Explain in detail about i input tax credit.
aSHes &§) BALS D5BoSol. ‘
UNIT-V

Define GST return? What are the different types returns specified under GST regime?

 GST 868 5:: DSBoiSol. GST deriod® 6 3 54:54) DS80Sl

(OR/Be») _
What is GSTR? Discuss various types GSTRs specified under GST regime.
GSTR eol d0od? GST dpridod® 6y :):Jd S0 GSTR 15809 [Erabolt

- -2-4;1%!12’9 % @




